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QUESTION 1

Which statement is true about "sticky" load balancing for Clusters?

A. The "clientip" setting does not apply to clusters, it only pertains to a Forwarder.

B. When set to "clientip” it uses the client\\'s IP address to bind the client to a particular target server.

C. When set to "clientip" it ensures that all subsequent requests are directed to the same client that made the initial
request.

D. When set to "clientip” it allows a DX sticky cookie to be sent to and stored by the client based on the IP address.

Correct Answer: B

QUESTION 2

An enterprise has three FTP servers that can handle up to 200 connections each, one primary and two backup. They
would like to have all initial traffic go to the primary server. If they run out of connections on the primary, traffic should
then go to the first backup server. If they run out of connections on that server, then traffic should go to the third server.
Which load balancing policy should be used to prevent excessive connections?

A. Backup Chaining

B. Max Connections

C. Weighted RoundRobin with weight set to 200 on the primary server

D. RoundRobin with Max Connections

Correct Answer: B

QUESTION 3

Which service uses AppRules?
A. Redirector

B. Forwarder

C.SLB

D. Cluster

Correct Answer: D

QUESTION 4

Which statement is true after performing the initial WebUI SSL configuration using the CLI?
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A. You can disable WebUI SSL by changing the port number to 8090.

B. You can disable or enable WebUI SSL using the CLI only.

C. You can disable or enable WebUI SSL using the Admin Services page in the WebUI.
D. You can only disable WebUI SSL by issuing a reboot.

Correct Answer: C

QUESTION 5

In a Bridged 1483 network, you suspect ATM interface 6/2.1 is receiving cells but May not be transmitting them. The
interface has an ATM PVC configuration of atm pvc 33 0 33 aal5snap. How do you baseline this interface and display
recent ATM cell statistics?

A. baseline atm vc atm 6/2 1show atm vc atm 6/2 1 delta

B. baseline atm vc atm 6/2 33show atm vc atm 6/2 33 delta

C. baseline atm vc atm 6/2 1show atm vc atm 6/2 1 delta

D. baseline atm vc atm 6/2 33show atm vc atm 6/2 33 delta

Correct Answer: D
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